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16. The news tickled him to death. 

The underlined phrase means : 

(1) greatly amused (2) pained (3) killed (4) frightened 

17. Locate the grammatically correct sentence/~ : 

(I) The uniquest feature of this vehicle is its gearbox. 

(XI) The most unique feature of this vehicle is its gearbox. 

(111) The unique feature of this vehicle is its gearbox. 

Answer Options : 

(1) Only (I) is correct. (2) Only (11) is correct. 

(3) Only (111) is correct. (4) ,All three are correct. 

-- 

18. The doctor gave him medicine. 

In the passive form, the sentence will be : 

(I) He has been given medicine by the doctor. 

(11) Medicine was given to him. 

(111) He was given medicine. 

(IV) Medicine has been given to him by the doctor. 

Answer Options : 

(1) Only (I) and (N) are correct. (2) Only (111) and (IV) are correct. 

(3) Only (11) and (111) are correct. (4) All four are correct. 

- - - 
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19. Which of the following sentences are grammatically correct ? 

(I) The doctor meets his patients between 6.00 p.m. to 9.00 p.m. 

(11) Unless you don't work hard, you will not succeed. 

(111) Thc teacher advised me to work harder. 

(IV) He has been running his business for 40 years now. 

Answer Options : 

(1) Only (I) and (111) (2) Only (I), (In) and (IV) 

(3) Only (111) and (IV) (4) All four 

20. He is one of the tallest boys in class. 

The above sentence has been re-written below, changing the degree of the underlined 
adjective. Choose the grammatically correct option : 

(I) He is taller than all other boys in class. 

(11) He is taller than any other boy in class. 

(111) He is taller than most other boys in class. 

(IV) No one is as tall in class as he is. 

Answer Options : 

(1) Only (IV) is correct. (2) Only (11) and (111) are correct. 

(3) Only (111) is correct. (4) Only (11), (111) and (IV) are correct. 

21. Combine the three sentences below to make a Complex-Compound sentence : 

You have to keep a sharp eye. He should not cheat you. You have to ensure this. 

(I) You have to keep a sharp eye, and ensure that he doesn't cheat you. 

(2) Keeping a sharp eye will ensure that he does not cheat you. 

(3) If you keep a sharp eye, you can ensure that he doesn't cheat you. 

(4) A sharp eye from you will prevent his cheating you. 
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22. Fill in the blanks with the correct word pair from the ones given below : 

He was walking while the others were quite 

(1) fastly and slowly (2) fast and slow 

(3) fastly and slow (4) fast and slowly 

23. Identify the underlined clauses and choose the right answer : 

(I] This is the place where he slipved. 

(11) We know whv she is uuset. 

(111) This is the movie -e. 

(IV) It is h i e  that he has escaped. 

Answer Options : 

(1) Three are noun clauses and one adverb clause. 

(2) Two are noun clauses, one is adjective clause, one is adverb clause. 

(3) Two are adjective clauses, one is noun clause, one is adverb clause. 

(4) Two are adjective clauses, two noun clauses. 

24. Fill in the blank with the most appropriate interjection : 

, I have a brilliant idea. 

(1) Ah (2) Aha (3) Oh (4) Bravo 
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25. Arrange the segments given below in the right sequence to make the most appropriate 
and meaningful sentence : 

(I) while listening to music 

(11) it was noticed that 

(111) to solve mathematical problems 

(IV) some of the students found it easy 

Answer Options : 

(1) (I), (lI), (IV) and (ID) (2) (II), (T), (In) and (IV) 

(3) QV), (Ill), (1) and (11) (4) (II), QV), (111) and (I) 

Direction : Read the following passage and answer the questions 26 to 30 that follow : 

My own faith in Chaitanya started giving me abundant strength. I no longer wanted to 
hide myself from the glaring eyes of the world. 1 took him around with me. He went with us 
everywhere like any normal child. We were not sorry or uncomfortable carrying him around. 

If I required help for him in public places, I was not embarrassed to seek it from people 
around. I did not mind telling them that he was a special child. I was no more scared of 
people's looks and awkward questions. I could talk about Chaitanya's problem, calmly. As my 
mind opened up further, I could discern a new hope springing in my heart. I felt happy I was 
a Special Mother. 

The special school did Chaitanya a lot of good. He was now a much more confident 
person, adored by his teachers, his friends and school staff. His speech improved and expression 
became clearer. His social manners became laudable. 

Academically, he was still lagang behind the expected standard of learning but it was 
okay. He started developing an all-round interest in craft, art, music, dancing and sports. 

Early in 1997-98, when he returned from state-level inter-school sports, he had two prizes 
to his credit and a silver medal. He had won his laurels in athletic events and the silver medal 
in a running race. 

When I saw the prizes and read the citation Chaitanya had received, I was stupefied, in 
total disbelief, then - hugged him, kissed him and cried unabashedly to my heart's content. 
That day, I cried the first time out of joy and a sense of being vindicated. Without practice he 
had competed with approximately 1800 children drawn from various schools all over the state. 
He was subsequently selected for the marathon race, but he could not participate due to a 
health problem. "Maybe next year he would", I assured myself. And I, as his proud mother, 
would proudly chronicle his future achievements and success to inspire other mothers of the 
world. 
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26. Fill in the blank with the best among the gven options : 

To begin with, Chaitanya's parents 

(1) were proud of him (2) hated him 

(3) were unconcerned about him (4) were embarrassed about him 

27. Fill in the blank with the best among the given options : 

As Chaitanya grew older, he showed a special talent for 

(1) studies (2) craft (3) music and dancing (4) sports 

28. Fill in the blank with the best among the given options : 

Chaitanya was certainly . 

(1) an indisciplined child (2) a sports genius 

(3) a handicapped child (4) a, spoiled child 

29. Fill in the blank with the best among the given options : 

The mother's hope is 

(1) to feel proud about her son 

(2) to become an inspiration for other mothers 

(3) to chronicle her son's achievements 

(4) to ensure that Chaitanya participated in next year's event 
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30. Fill in the blank with the best among the given options : 

When Chaitanya did well in the athletic event, his mother 

(1) was surprised 

(2) did not believe he had really done so well 

(3) was expecting it 

(4) was heart-broken 

31. Consider the following two statements : 

(a) As per the Stockholm International Peace Research Institute, India is the largest 
arms importer in the world. 

@) More than three fourth of the arms imported in India come from the U.S.A. 

Now tell which of the following options is correct ? 

(1) Statement (a) alone is correct 

(2) Statement (b) alone is correct 

(3) Both the statements (a) and @) are correct 

(4) Neither statement (a) nor (b) is correct 
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32. Match the pairs : (Bharat Ratna Award) 

A B 

(a) Pandit Jawaharlal Nehru (i) 1991 

(b) Dr. Rajendra Prasad (ii) 1966 

(c) La1 Bahadur Shastri (iii) 1962 

(d) Sardar Vallabh Bhai Pate1 (iv) 1955 

Codes : 

(a) (b) (4 (4 

(1) (i) (ii) (iii) (iv) 

(2) (ii) (i) (iv) (iii) 

(3) (iv) (iii) (ii) (i) 

(4) (iv) (ii) (iii) (i) 

33. Which two states became the first to issue Elector's Plastic Photo Identity Cards (EPPIC) 
for elections in India 2014 ? 

(1) Assam and Nagaland (2) Meghalaya and Arunachal Pradesh 

(3) Manipur and Sikkim (4) Mizoram and Manipur 

34. Arrange the following Army ranks in the appropriate ascending order. 

Select the correct option : 

(1) Major, Brigadier, Colonel (2) Colonel, Major, Brigadier 

(3) Major, Colonel, Brigadier (4) Brigadier, Major, Colonel 
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35. Consider the following statements with reference to the 13th Finance Commission : 

(a) The Commision was established in the year 2007. 

(b) Dr. Vijay Kelkar was the Chairman of this Commission. 

(c) The period of recommendations of the Commission was from April 2007 to March 
2012. 

Which of the statements given above is/are not true ? 

36. Noted English author and journalist Khushwant Singh died in New Delhi in March 2014. 
The name of his weekly column was : 

(1) Round and about (2) With malice towards one and all 

(3) Between the lines (4) Jugular vein 

37. The first Asian Games were held in 1951, in New Delhi and were organised at the initiative 
of the late Prime Minister Pt. Jawaharlal Nehru. 

Which of the following statements is incorrect about the Asian Games : 

(1) They are held once in four years 

(2) Fastest onwards is the motto of the Asian Games 

(3) The Emblem is a bright full rising sun with interlocking rings 

(4) None of the above 
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Consider the following two statements about the ICC World Cup T20 ! 

(a) Five teams (India, Pakistan, England, West Indies and Shri Lanka) have so far won 
the World ICC T20 Cup ! 

(b) Only West Indies have won it twice ! 

Now state whether, 

(1) Only statement (a) is right. 

(2) Only statement @) is right. 

(3) Both the statements (a) and (b) are right. 

(4) Neither statement (a) nor @) is right. 

39. Which of the statements given below regarding the prestigious Padrna Awards for 2014 is 
incorrect ? 

(a) Dr. Raghunath Mashelkar got it for Science and Engineering. 

(b) Shri. B.K.S. Iyengar for others Yoga. 

(c) Begum Parveen Sultana for Art - Classical singing. 

(d) Prof. Jyesthraj Joshi for Science and Engineering. 

(e) Shri. Kamala Hassan for Art - Cinema. 

( f )  Shri. Pallela Gopichand for Sports - Badminton. 

(g) Leander Paes for Sports - Tennis. 

Answer Options : 

(1) (b) (2) (dl (3) (f) (4) None 

- 

40. The member countries of BIMSTEC are 

(a) India (b) Thailand (c) Shri Lanka (d) Malaysia 

Answer Options : 

(1) Ordy (a), (b) and (d) (2) Only (a), ( 4  and (d) 

(3) Only (b), (c) and (d) (4) Only (4,  @) and ( 4  

-- -- 
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41. Consider the following two statements about the General Elections 2014 : 

(a) Indias electorate of 81.5 crore is nearly three times as large as the next largest - US ! 

@) Indias electorate is bigger than the next five - US, Indonesia, Brazil, Russia, 
Bangladesh put together. 

Now state whether, 

(1) Only (a) is correct (2) Only @) is correct 

(3) Both (a) and (b) are correct (4) Neither (a) nor (b) is correct 

42. Which of the following two statements is correct ? 

(a) Madhya Pradesh decided to implement the Food Security Act. from March 1, 2014. 

(b) Under the Food Security Act an estimated 25% population of Madhya Pradesh was 
expected to be covered. 

Answer Options : 

(1) Only (a) (2) only (b) 

(3) Both (a) and (b) (4) Neither (a) nor (b) 

43. Which one of the following statements about Shri. Chandi Prasad Bhat is incorrect ? 

(1) He has been awarded the Gandhi Peace Prize for the year 2013. 

(2) He is an eminent Gandhian and an environmentalist. 

(3) He received the Padma Vibhushan in 2005. 

(4) He was awarded the Ramon Magsaysay Award in 1982. 
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44. In the ICC World Cup T20 finals though we lost to Shri Lanka Virat Kohli played 
splendidly. Some how, Yuvraj could not perform well. 

In the match, 

(a) Virat Kohli played with a jerkin displaying number 12. 

(b) Yuvraj played with a jerkin numbered 18. 

Which of the above two statements is correct ? 

(1) Only (a) (2) Only (b) 

(3) Both (a) and (b) (4) Neither (a) nor (b) 

45. After Fali Nariman, which former Supreme Court judge turned down the offer to head 
the Lokpal Search Committee ? 

(1) K.T. Thomas (2) Aftab Alam (3) G.S. Singhvi (4) H.L. Gokhale 

46. What is true of the Nepal's new Prime Minister ? 

(a) Nepals parliament has elected Nepali Congress President Sushil Koirala as the new 
Prime Minister. 

(b) Suslul Koirala was elected with a slender majority. 

(c) Sushil Koirala's party does not have a majority in the parliament. 

(d) So far three Prime Ministers have come from Koirala Family. 

Answer Options : 

(1) (a) and (d) only (2) (a), (b) and (4  only 

(3) (a), (c) and (d) only (4) All four (a), (b), (c) and (d) 
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47. Mobile Number Portability which began in 2009 allows subscribers to retain their existing 
telephone numbers when they switch : 

(a) From one access service provider to another. 

(b) From one technology to another. 

Answer Options : 

(1) Only (a) is correct (2) Only (b) is correct 

(3) Both (a) and (b) are correct (4) Neither (a) nor @) is correct 

48. Which of the following statements about Dr. C.N.R. Rao islare not true ? 

(a) Recently he was awarded with "Bharat Ratna" award. 

@) He did his college education in Pune. 

(c) He is the Fourth Scientist who received Bharat Ratna award. 

(d) In 1994, he was the Chief of the Scientific advisory Board of the Prime Ministers 
office of India. 

Answer Options : 

(1) (a) and @) (2) Only (b) (3) ( 4  ( 4  (4) (a), ( 4  and (4 

49. Which of the two statements given below islare incorrect about the IIFA Awards 2013 ? 

(a) The film Vicky Donor got it for the Best Film. 

(b) Abhishek Bachchan got it for the Best Actor in Negative Role. 

Answer Options : 

(1) Only (a) (2) only @) 

(3) Both (a) and (b) (4) Neither (a) nor (b) 

i 50. Which is the first state, to implement the 'Panchayat Empowerment and Responsibility 
Scheme' in India ? 

(1) Gujarat (2) Karnataka (3) Kerala (4) None of these 
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51. Fill in the blank with an appropriate alternative : 

18 (160) 22 

21 (160) 19 

36 ( ? ) 24 

(1) 120 (2) 320 (3) 240 (4) 160 

52. Select a set for the blank : 

@Bg+W4lt+%v#4@~+bblt+avgw@x+Wra+av 

( Y I ~ @ B ~ + W ~ O + * V # ~ @ X + ~ ~ Q + ~ ~ : V Y ~ @  

Bg+WbQ_ - - g4@Bg+W4O+*vH4 

(1) +@v (2) + b 4  (3) +Ow (4) @%+ 

53. Rajat is Peter's son and Sunil's brother. Aripha is Sunil's mother and Jaya's daughter. 

Which of the statements below is true ? 

(1) Jaya is Rajat's mother-in-law (2) Aripha is Rajat's mother 

(3) Jaya is Peter's Grandmother (4) None of the above 

54. In the two numerical sequences given below, one number that appears in the bottom 
sequence truly belongs to the upper sequence and vice versa. 

Which numbers are they ? 

8, 16, 48, 144, 288, 576 

8, 24, 48, 96, 288, 864 

(1) 16, 24 (2) 144, 96 

(3) 576, 864 (4) No exchange is needed 
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55. Pointing to a person in photograph a woman said, "Father of this person's brother is the 
only child of my grandfather". 

Which of the following statements will be certainly true about how this woman is related 
to the person at whom she is pointing ? 

(a) Sister 

(b) Brother 

(c) Sister or brother 

(d) She herself is the person in the photograph. 

Answer Options : 

56. Lalu has 0.125 more than Balu and Balu has 3/4 more than Neelu. Between them Neelu, 
Balu and Lalu have 151. How many Balu has ? 

(3) 32 (4) Total is not divisible 

57. Choose an appropriate set for the empty boxes : 
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58. If there are no actors that aren't dancers and no singers that aren't actors then which 
statement is always true ? 

(1) There is not one dancer that is not an actor 

(2) All singers are actors 

(3) Any dancer is also a singer 

(4) None of the above 

59. In a certain code ROSU is written as GJFD. How will TIGK be written in the same 
code ? 

(1) NPRE (2) EPRN (3) REPN (4) EPNR 

60. The number 14641 is the product of 

(1) 2 prime numbers (2) 3 prime numbers 

(3) 4 prime numbers (4) 5 prime numbers 

61. Length of the rectangular area is increased by 10% and its breadth is decreased by 10%. 
By what percent will there be a change in its original area ? 

(1) 1% increase (2) 1 % decrease 

(3) No change (4) Information is insufficient 

62. How many squares are there in the figure ? 
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63. Find the odd image out : 

64. Choose the correct option for the empty boxes. 

65. Removing which of the following squares will have no change in the perimeter of .the 
given figure : 

A B C D E  m+, 
66. By exploring the correlation select an alternative for the question mark 
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67. How many minutes is it before 12 noon if 1 hour 35 minutes ago it was twice as many 
minutes past 8 am ? 

68. Replace the question mark with an appropriate alternative : 

69. Which of the following Venn diagrams represents correctly the relationship between 
musician, instrumentalist and violinist ? 

70. What no. will come at the place of question mark ? 

- 
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71. Select an appropriate alternative to the question mark, 

72. Identify the odd figure : 

73. Antony, Han, Sajid and Wanto are friends and are learning different languages. Antony 
and Hari speak Tamil, where as Sajid speaks Gujarati but not Assamees. Every one except 
Antony speaks Hindi. Hari and Wanto speak Assamees. 

Who speaks Assamees and Hindi only ? 

(1) Antony (2) Hari (3) Sajid (4) Wanto 

74. What day comes three days after the day, which comes two days after, which comes 
immediately after which comes two days after Monday ? 

(1) Monday (2) Friday (3) Thursday (4) Wednesday 

75. Which number is on the face opposite to 3 ? 
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76. Which of the following fuels is more environment friendly ? 

(1) LPG (2) CPJG (3) Acetylene (4) Gasoline 

77. Colour of ozone gas is : 

(1) Yellow (2) Dark blue (3) Red (4) Colourless 

78. Alum is a double sulphate of : 

(1) A1 and Cr (2) A1 and Na (3) A1 and K (4) A1 and Mg 

79. A mixture of 'Blue Vitriol' and 'Milk of Lime' is known as 'Bordeaux' mixture which is 
used as : 

( 1 )  Insecticide infarming (2) Fungicide for fruit trees 

(3) Herbicide in agriculture (4) Fertilizer for garden 

80. What is the name of Iron Ore FeO(0H) ? 

(1) Hematite (2) Magnetite (3) Limonite (4) Siderite 

81. The boiling point of water is unexpectedly high, because : 

(1) Water molecule is not linear 

(2) sp3 hybridisation is involved in the formation of water 

(3) Oxygen is the electropositive element 

(4) There is a hydrogen bonding and consequent association of water molecules. 
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82. In winters, surface water of seas near North and South poles solidifies with water beneath 
it continuing as such. As cold persists : 

(a) Height of the ice slab remains same 

(b) Height of the ice slab increases 

(c) Temperature of the water beneath decreases gradually below 4°C 

(d) Temperature of the water remains at 4°C 

(e) Temperature of ice and water decreases. 

Which of the statements are correct ? 

(1) (b) and (c) (2) (a) and (c) (3) @) and ( 4  (4) (a) and ( 4  

83. When an alpha is emitted by an atom : 

(1) Its atomic number increases by 2 and mass number decreases by 4. 

(2) Its atomic and mass numbers decrease by 2. 

(3) Its atomic number decreases by 2 and mass number decreases by 4. 

(4) Its atomic and mass numbers decrease by 4. 

84. The resistance of a conductor depends on which of the following physical conditions of 
the conductor ? 

(a) Length of the conductor 

(b) Area of cross section of the conductor 

(c) Material of the conductor 

(d) Temperature of the conductor 

Which of the statements given above is correct ? 

(1) (a) only (2) (b) only 

(3) (a), (b) and (4 (4) (a), @ ) J  (c) and (4 
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85. The power of lens is : 

(1) Directly proportional to its focal length. 

(2) Inversely proportional to its focal length 

(3) Equal to its focal length. 

(4) None of these. 

86. Which of the following statements are true ? 

(a) Concave mirrors are used in solar devices. 

(b) A convex lens is used to correct hypermehopia. 

(c) Two concave lenses are used in a simple microscope. 

(d) Concave lenses are used in cameras. 

Answer Options : 

(1) (a) and (b) (2) (b) and ( 4  (3) (4 and (4 (4) (a) and ( 4  

87. How are the shock waves generated ? 

(1) When high frequency current flows through a conductor. 

(2) When source of sound moves faster than that of the sound waves in a medium. 

(3) When system vibrates with a frequency more than 20 kHz. 

(4) Both (2) and (3) above. 

88. At a joint, the bones are connected to each other by : 

(1) Cartilage (2) Fibres (3) Tendon (4) Ligament 
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89. Find the perfect scientific reasoning for 'Mirage'. 

(1) Rehactive index of hot air is less than that of cool air. 

(2) Hot air is lighter than the cool air. 

(3) It is the effect of atmospheric refraction. 

(4) All of the above. 

90. The largest and most successful phylum in animal kingdom is : 

(1) Mollusca (2) Annelida (3) Vertebrata (4) Arthropoda 

91. Human body consists of about different types of muscles. 

(1) 640 (2) 460 (3) 540 (4) 400 

92. The best quality of pearls is known as : 

(1) Real moti (2) Sweta moti 

(3) Lingha moti (4) None of the above 

93. Which of the following primitive men was nicknamed as 'Handy man' ? 

(1) Homo erectus (2) Homo neanderthalensis 

(3) Homo heidelbergensis (4) Homo habilis 

94. The system of binomial nomenclature was published in : 

(1) Species Plantarum (2) Genera Plantarum 

(3) Historia Plantarum (4) Systema Naturae 
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95. The micronutrient which affects the synthesis of growth hormones in plants is : 

(1) Sulphur (2) Zinc (3) copper (4) Boron 

96. Vascular plants have specialized tissues that help to support the plant as well as transport 
water and nutrients upward from their roots : 

(1) Phloem (2) Sclerenchyma (3) Xylem (4) Parenchyma 

97. Which one of the following ferns occurs in fresh water ? 

(1) Dteris (2) Lycopodium (3) Azolla (4) Psilotum 

98. Which of the following is not a nitrogen fixing bacteria ? 

(1) Diplococcus (2) Azospirillum (3) Azotobacter (4) Rhizobium 

99. Which of the following is the constituent of the enzyme nitrate reductase which is required 
for nitrogen fixation ? 

(1) Magnesium (2) Mandelevium (3) Manganese (4) Molybdenum 

100. Bentham and Hooker's system of classification belongs to which of the types mentioned 
below ? 

(1) Phylogenetic (2) Natural (3) Artificial (4) Commercial 

- 0 0 0 - 
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